
Multiply and Divide by Positive Powers of Ten (C)Find each product or quotient.
7.229 × 100 = 6.4517 ÷ 10 =
3.3 × 100 = 2.2891 × 10 =
3.5116 ÷ 10 = 6.01 × 1,000 =
7 × 10 = 2.49 ÷ 1,000 =
4.3673 ÷ 100 = 7.72 × 1,000 =
0.5717 ÷ 100 = 7.7504 × 1,000 =
6.29 ÷ 10 = 3.8178 ÷ 100 =
3.3 × 100 = 5.3424 ÷ 10 =
2.3 × 1,000 = 2.193 × 100 =
1.1653 × 100 = 8.2191 × 100 =
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Multiply and Divide by Positive Powers of Ten (C) AnswersFind each product or quotient.
7.229 × 100 = 722.9 6.4517 ÷ 10 = 0.64517
3.3 × 100 = 330 2.2891 × 10 = 22.891
3.5116 ÷ 10 = 0.35116 6.01 × 1,000 = 6,010
7 × 10 = 70 2.49 ÷ 1,000 = 0.00249
4.3673 ÷ 100 = 0.043673 7.72 × 1,000 = 7,720
0.5717 ÷ 100 = 0.005717 7.7504 × 1,000 = 7,750.4
6.29 ÷ 10 = 0.629 3.8178 ÷ 100 = 0.038178
3.3 × 100 = 330 5.3424 ÷ 10 = 0.53424
2.3 × 1,000 = 2,300 2.193 × 100 = 219.3
1.1653 × 100 = 116.53 8.2191 × 100 = 821.91
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